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1. Bk iSO A Sun A w1 = 08 F R 4%: Http:/java.sun.com/

2. BUEISATIES (A 2edE H 3k Aer\i2sdk1.4.2_01\bin)

winXP/NT/2000 5 4 :
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path—e:\j2sdk1.4.2 01\bin

classpath—.;e:\j2sdk1.4.2_01\lib
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Applicationfe/ @45 FTIFCHA

public class HelloApplication{

public static void main(String args[]) {

System. out. println(” HELLO WORLD!”) ;

}

}

P A 7 -

® {R#ffMHelloApplication. java

® 7EDOSTAH/RTPIRA, BEA: javacHelloApplication. java, ZwizFi
J¥ H 34 liHelloApplication. class

® {EDOSHT L PLRTPIRE, B java HelloApplication, W/n[Iaf7FE

4. AppletFify:

import java.applet.Applet;

import java.awt. *;

public class HelloApplet extends Applet {

public void paint (Graphics g) {

g. drawString ("XKil2% 2] javally 5, 100, 100) ;

}

}

html SCAFIRIZ0E -

<html>

<body>

<applet code=HelloApplet.class width=500 height=400>
</applet>

</body>

</html>
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® e (javac)

® zfrhtmlICfF: (1) HIIEREHE (2) Hlappletviewer SCfF44. html
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public class Ul {

public static void main(String args[]){

int max,a=4,b=3,c=7;

JIEARFE P A AR ST

System.out.println(a+" "+b+" "+c):// UK Catbtc) gl F i ?

System.out.println("max="+max);

}

}

SAF12: MR AL Fscore AR 1R 73 20, i H 0 B A 2K
6073 LA DA ; 60~694CAF; 70~89WBAE; 90~1004 A% .
public class U2{

public static void main(String args[]){

int score=55;



switch(score/10) {

case 0:case 1:case 2:case 3:case 4:

case 5:System.out.println(score+" 4} & D%5");break;
/|2 fxibreak 45 AT AL 10 ?

case 6:System.out.println(score+" 4} j&: C%5");break;
case 7:

case 8:System.out.println(score+" 4} J&:B%%");break;
case 9:

case 10:System.out.println(score+" 4} j&: A%5");break;

default:System.out.printIn("Z i 1%");
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public class Shuzul {
public static void main(String args[]) throws java.io.IOException{
char ch[][]=new char[4][4];
System.out.println("¥i A 167 FBE,  HAbEEH");
labl:
for(int i=0;1<4;i++)
for(int j=0;j<4;j++){
ch[i][j]=(char)System.in.read();
System.in.skip(2);



N REHEE IR, [Pl 7 BHR S F 4
if(ch[1][j]=="b")

break lably// XAUZAEMEE 51T (labl, &5 5R X atnfa?
}

for(int i=0;i<4;i++)//H T4 H 4 ch

for(int j=0;j<4;j++)
System.out.print(ch[i][j]+""); /"|"FH T 73 b RN F 4l e &
System.out.printIn("#k H");

}

}
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1. & A Personk, ZKEME ) FITEUT:
W44 name FAFHRAL,

PEA: sex FIFHY;

TEWY: age HEAY,
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class Person{

String name;

char sex;

int age;

public Person(String s,char c,int 1) {
name=s;

sex=c;

age=i;

}

public String toString() {

String s="# 4 : "+name+" PEl: "+sex+" FU: "+age;
// IR |As I

}

}
public class T1{

public static void main(String args[]){

Person pl=new Person("7Kk —",'5}',20);
//EXMNGp2, FEANZHI N A F, &, 28
pl.sex="%"; //Fpl FIsex JB MBSk £
System.out.println(p1.toString());//4 i p 115 JE 1
//Fp2IH i aget 433
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FEFP—:

class A{

int 1,j;

void showij() {System.out.println("i and j:"+i+" "+j);}

}

class B { /B A AR & MR 7k

mnt k;

void showk(){System.out.println("k:"+k);}

void sum() {System.out.printIn("i+j+k:"+(i+j+k));}

}

public class M1{

public static void main(String args[]){

A father =new A();

B son=new B();

father.i=10;father.j=20;

IMEFH AR AT B 5

son.i=7;son.j=8;son.k=9;

/ML 5 2RB A IS A T R A 1 7 i

/ME T 2RBIF 8 1) 5 showk()

son.sum();

}

}
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(2) RPN FREBRRINER): intij; GFRBAFNFELAZ L]
AT T HFE X MEBAT S RAT AANF? A ? RIS A2
(3) FERE—HAE T 2RBH IS Ik 4 J7 1
void showij(){System.out.println (“& 75 T XM 51 J7757);)
O AR AT I [R) 44 T AT 0 E SO MEGsAT 8 RA T AAF 2 At
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4. KMz AN
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(1) HZFIntsortBl X Gs
(2) ot A EHERA 10, 25
(3> SRt = HEF10, 25, 17

(i
class Intsort{

public String sort(int a,int b){ /3 X PANECHE T 10 )77k

if(a>b)return a+” 7+b;

else return b+ 7+a;

}

public String sort(int a,int b,int ¢){ /5 X = /MEHETF 0 7%
int swap;

if(a<b) {swap=a;a=b;b=swap;}
if(a<c){swap=a;a=c;c=swap;}
if(b<c){swap=b;b=c;c=swap; }

return a+” 7+b+” +c;

}

}

public class M1{ //3& X FF7% A Intsort2E HH 1) J51%
public static void main(String args[]){

}

}
(@M RGN
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Java RV 2 AN RIEEAE — S o — 4.,

TP TIL B
FEFP—:
package P1;
class C1{}
public class C2{
public static void main(String args[]){
System.out.printIn("%Z & 4 12 45 L");
1
interface 11{}
package P2;
class C3{}
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1) RAFSCAEC2 java(iE R 7B MNjavaliife P HBefA — 4 EiEH)
2) Ywi%k: javac —d.C2java

3) 121T: javaP1.C2

4) fRA7FSCAFC3 java

5) YWi¥: javac —d . C3.java

6) 1z1T: java P2.C3

2. RGO
FEFE . IBATRRSF,  [RI3 i)
import java.awt.*;
import java.awt.event.*;
import java.applet. Applet;
public class M extends Applet implements
MouseListener,MouseMotionListener {
int x1,y1,x2,y2;
public void init() {addMouseListener(this); addMouseMotionListener(this);}
public void paint(Graphics g){g.drawLine(x1,y1,x2,y2); /i )1
g.drawString("x1:"+x1+" y1:"+y1+" x2:"+x2+" y2:"+y2,50,50);}
public void mousePressed(MouseEvent e){ x1=e.getX();yl=e.getY();}
public void mouseClicked(MouseEvent e){}public void
mouseExited(MouseEvent e){}
public void mouseEntered(MouseEvent e){}public void
mouseReleased(MouseEvent e){}
public void mouseDragged(MouseEvent e) {x2=e.getX();y2=e.getY();repaint();}
/1T H]2
public void mouseMoved(MouseEvent e){} }
(D BFPEOTFREITR S 220, REmmER?
(2) Al FRIZTE A 2SS BB IO AR KB A2 R e
Hasgm?
(3) $:IMouseListenerf1MouseMotionListener+ 4 Wl £ /57 ?
R = HE SR E XN



(1) %EHANI
interface N1{
int year=2006; //year#k A A static final’ &
int age(); //CITIEAR, FEAF N R INA T 4k
void output(); }
(2) 5IH A E %N
public class M implements N1 {
String xmgint sr; /A T xm N EES, sy HAEFTEESE (. 1988)
M(String a,int b){xm=a;sr=b;} //#4Ji& J5 ik
public int age(){ } /SEILEE LI T7%, IR [RIAERE
public void output() {System.out.printIn(xm+"[FJ4F#% 4y : "+this.age());} /4 Hi 4

public static void main(String aa[]){

//MERARIMAN R Gra, WEA4 5K, AR PTESE1988

/1 Foutput (O J7ykHrH

I

3. R AL BRI

FEf7 Y

FEAN R R W R AN B UE, st SR O S AR

MR

public class C1{

public static void main(String args[]){

System.out.printIn(">F- i 437 720");

System.out.printIn("$1143"+kf(1));} /A HKE 1SR -1, SRR T 45 R AR IF
LTI

static int kf(int n) {

} /AR [A] 5 320-n

}

ST 4R 4820

5321

ST 4R 4820
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FEFE T WA M A T, R S AR RIS is 1T 47 2R,
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public class C2{

public static void main(String args[]){

System.out.printIn(">F- i 437 7320");

1. {System.out.println("#14"+kf( —1));}

2. (Exception e){System.out.println(" 114} & f1{EH");}

}

static int kf(int n) throws C3{

C3 d=new C3();

if(n<0)throw d; /4l - C3 ¥

return 20-n; }

}

class C3 extends Exception{ // H & X I¥) 5 2K

C3() {super("FH 7T A 1R");}

}

SERFE IS R P A5 R .

FEFEN: BNV LU MR, R rtry IS A I R m] R A2 2 Fh e
TR catchZHOHATILIC . WEEFR P IS TS5 R, e Tavarh () 5 1 AL BEALA .

class Test{

static int a=3,b=0; //1IE1T)5, WKL EbMKIEFE, MELR

static String c[]={“%(4 Tt Ec[0]};

public static void main(String[] args) {

try{ System.out.println(a);

System.out.println(a/b);

System.out.println(c[b]); /47 b 41E R A E, AEAPEARISAT, LA
WRRZistr, PRI EfinallyF, 5 NafraiR

}

catch(ArithmeticException e){



System.out.println (" $2 ] NEARFHE") ;

}

catch(ArrayIndexOutOfBoundsException €){
System.out.println ("fii 2 2 — AN E TR R
}

catch(Exception €) {

System.out .println ("fiHEE]— N RGBT HE");
}

finally {

System.out.printIn("F£ /3 45 HK");

}
i

T

(1) RGP IRSRE ) 2l 5 2R 45T R 4 T 52

Q2) M ATREFASATEN iR — D RGE—AIA#H? KP4 catchif 1)
PSS, TP e g PRIl 15 RGO 45 AT A RS R AT A2

JRPA: try)E i catchifi t) U — S8 CGREFHHR I HRINSD , i
ety )RR P RE It 2 A e o B 77 2 H 24 S Ab P TE A1) (catch
WA RBATHE S . — M, AL PRA AR H WK e ) catch R MY TRCAE Fi I
117 AT PAE 22 b e B AR UG E ) catch RN IBAE B JE BOAE D, R A E 2 A i e
AHE QR AR B2 an it . B, an SR FE Exception ¥ catch i FJ JCAE T 4
ArithmeticExceptionffJcatchifi 1) Z {if, A< 4, P24 ArithmeticExceptioart
9k 7% H Exception], U1 FE 4l H ArithmeticException, F54 2 5 fili #£ Exception
FJcatchif FAHUCEC (1) ¥ B JOAR), RS n i ArithmeticExceptionf?)
catchifi A ANBEHAT 2, IR — MR B OB (8] LG B 12 3k 4 )

(3)finally ifi FgH (AU — 2 S AT 2RRL 7 AR BEb UM AR R 5
TIBATE R IV AT A7 B P T B R e 4 g2

(4)yFstry-catch-finally V57 5, BT, GBS S 12008 ok i 200 £ 74 1711
BATHI R
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import java.io.*;

public class T1{

public static void main(String args[]) throws [OException{

int ch;

System.out.println("IFHIA— N FRF: "),

ch=System.in.read();

/7 chf CRFchi il e i 7 77 1)

}

}

FEfP2: A9 SR, SCBLLL R IhAg: MR ASCT 1 275good, i
N At B I 7R bad

FEFP3: giRifth 26 oesC 7Rt

FEfp4: FEFPIhng: MBS LU AT sh o, BilE It ie iz ie e .

import java. io. *;

public class C1{



public static void main(String args[]) {
String s;

InputStreamReader ir;

BufferedReader in;

ir=new InputStreamReader (System. in) ;

/ /RS R GE R AER N R R R AN LT 3R
in=new BufferedReader (ir) ;

try

do{s=in.readLine ) ; //MNERILAN—ATFHFH
if (s!=null) {

System. out. println("Read: “+s); //W2HL i) Edh fi
}

fwhile (s!=null); //IWr2 51350 20
}catch(Exception e) {};

I8

2. Hd s A
FEF5:

FEFEIhEe: el txt PN BRI, txth.  (GEIX2AN SCAR B 4t

tl. txtfRIHN A

NN
t2. txtII N &
SR/ SR= X

import java. io. *;

public class T3{

public static void main(String args[]) throws IOException{
FileReader in=new FileReader (“tl.txt”):

BufferedReader bin=new BufferedReader (in) ;

FileWriter out=new FileWriter ("t2. txt”, true) ;

/RT3



String sl;

while ((sl=bin. readLine()) !=null) {
System. out. println(sl); //¥ sl 2 2R7s
out.write(s1+”\n”); //#s15 NoutX} %}
in.close();

out. close();
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1. FEfF4: X08 08 CalculatorGUI java

import javax.swing.*;

import java.awt.*;

import java.awt.event.*;

import java.applet. Applet;

public class X08 08 CalculatorGUI extends JFrame implements ActionListener

private final static int NBUTTONS = 16; // Constants
private JPanel keyPadPanel; // Panel to hold keyPad



private JTextField accumulator; // Calculator s display

private JButton keyPad[]; // Internal keyPad array

private String label[] =// 16 keyPad Button Labels

R B R R R T A B e R A

private X08 08 Calculator calcMachine = new X08 08 Calculator(); / The
calculator

public X08 08 CalculatorGUI(String title) { // Set up the keypad grid layout

super(title);

keyPadPanel = new JPanel();

keyPadPanel.setLayout(new GridLayout(4, 4, 1, 1));

keyPad = new JButton[ NBUTTONS];// Create an array of buttons

for (int k = 0; k < keyPad.length; k++) {

// For each array slot Create a button

keyPad[k] = new JButton(label[k]);

// And a listener for it

keyPad[k].addActionListener(this);

// And add it to the panel

keyPadPanel.add(keyPad[k]);

} /1 for

// Set up the accumulator display

accumulator = new JTextField("0", 20);

accumulator.setEditable(false);

// Add components to the frame with Border layout

getContentPane().setLayout(new BorderLayout(10, 10));

getContentPane().add("North", accumulator);

getContentPane().add("Center", keyPadPanel);

}+ // X08 08 CalculatorGUI()

public void actionPerformed(ActionEvent e) {

JButton b = (JButton) e.getSource();

// And its label

String key = b.getText();



String result = calcMachine.handleKeyPress(key, accumulator.getText());
accumulator.setText(result);

}+ // actionPerformed()

public static void main(String args[]) {

X08 08 CalculatorGUI calc = new X08 08 CalculatorGUI("Calculator");
calc.setSize(400, 400);

calc.setVisible(true);

calc.addWindowListener(new WindowAdapter() {

public void windowClosing(WindowEvent e) {

System.exit(0);

}

$)s
}+ // main()

}+ // X08 08 CalculatorGUI

2. FEP44: X08 08 Calculator.java

import java.lang.*;

public class X08 08 Calculator {

public final static int NOOP = -1; // Operations
public final static int EQUAL = 0;

public final static int ADD = 1;

public final static int SUBTRACT =2;

public final static int MULTIPLY = 3;

public final static int DIVIDE = 4;

public final static int CLEAR = 5;

public final static int APPEND = 0; // Display states
public final static int REPLACE = 1;

private int accumulator; // The actual accumulator
// Internal memory for the visible textField
private int displayRegister;

// ' The operation that s waiting for Operand2

private int opCode;



// State of the external display (REPLACE or APPEND)
private int displayState;

// Set true if divide-by-zero error
private boolean error;

public X08 08 Calculator() {
initialize();

} // constructor

private void initialize() {

// Reset the machine s registers
accumulator = 0;

displayRegister = 0;

// Replace the display with the next digit typed
displayState = REPLACE;

opCode = NOOP; // No current operation
error = false;

} // initialize()

private int keyToIntCode(char keyCh) {
switch (keyCh) {

case 'C":

return CLEAR;

case '=":

return EQUAL;

case "

return ADD;

case '-":

return SUBTRACT;

case "*':

return MULTIPLY;

case '/

return DIVIDE;

}



return -1; // Error Return

}

private int doCurrentOp(int keyCode) { // do current opCode
if (keyCode == CLEAR) {

initialize();

return accumulator;

}

switch (opCode) {

case NOOP:

accumulator = displayRegister;

break;

case ADD:

accumulator = accumulator + displayRegister;
break;

case SUBTRACT:

accumulator = accumulator - displayRegister;
break;

case MULTIPLY:

accumulator = accumulator * displayRegister;
break;

case DIVIDE:

if (displayRegister == 0)

error = true;

else

accumulator = accumulator / displayRegister;
break;

} // switch

if (keyCode == EQUAL)

opCode = NOOP; // Reset opCode

else

opCode = keyCode; // Set up for next operation



displayState = REPLACE;

displayRegister = 0;

return accumulator;

} // doCurrentOp

public String handleKeyPress(String keyStr, String external display) {
String resultStr; // Stores the result

char keyCh = keyStr.charAt(0); // Convert the key label to a char
if (Character.isDigit(keyCh)) { // If this was a digit key
if (displayState == APPEND) // either append it
resultStr = external display + keyCh;

else { // or use it to replace the display

displayState = APPEND;

resultStr = keyStr;

}

} else { // If not a digit key, it must be an opCode

// Get display value

displayRegister = Integer.parselnt(external display);

// Perform an operation

int result = doCurrentOp(keyTolIntCode(keyCh));

if (error)

resultStr = Integer.toString(result); // Return result

else {

resultStr = "Error";

initialize();

}

}

return resultStr; // return the result
}+ // handleKeyPress()
}+ // X08 08 Calculator Class
(@M RGN
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2. A a&Swing, EMAWTHAH AN R? H B A5 ?

SL18+t: JavaApplet BIRS

(S5 HIi
1. B Appletft)izfTil e
2. B2 Appletfe )y FH I 71k
@Ak
1. BrEpdigmis. HalstT.
2. Wi FISEH—>RockPaperScissors ] Applet 725, TSI P AIHEHL
Z IR GEBT ) A Sk B Bl R, RGeSl K.
EXw )|
import javax.swing.*;
import java.awt.*;
import java.awt.event.*;
import java.awt.geom.*;
public class X07 06 JRockPaperScissors extends JApplet implements
ActionListener {
JLabel greeting = new JLabel("Rock, Paper, Scissors");
JLabel promptLabel = new JLabel("Choose one button");
Font headlineFont = new Font("Helvetica", Font. BOLD, 30);
Font mediumFont = new Font("Helvetica", Font. BOLD, 18);
JButton rock = new JButton("Rock");
JButton paper = new JButton("Paper");
JButton scissors = new JButton("Scissors");
JLabel resultsLabel = new JLabel(" ");
JLabel resultl = new JLabel();
JLabel result2 = new JLabel();
JLabel result3 = new JLabel();

String userPick ="";

String computerPick ="";



Container con = getContentPane();
int playerCount = 0;

int computerCount = 0;

int tieCount = 0;

final int LOW = 1;

final int HIGH = 3;

public void init() {
greeting.setFont(headlineFont);
con.add(greeting);
promptLabel.setFont(mediumFont);
con.add(promptLabel);
con.add(rock);

con.add(paper);

con.add(scissors);
resultsLabel.setFont(mediumFont);
con.add(resultsLabel);
con.add(resultl);

con.add(result2);

con.add(result3);
con.setLayout(new FlowLayout());
rock.addActionListener(this);
paper.addActionListener(this);
scissors.addActionListener(this);
repaint();

}

public void actionPerformed(ActionEvent e) {
int computer;

String msg;

computer = LOW + (int) (Math.random() * HIGH);
if (computer == 1)

computerPick = "rock";



else if (computer == 2)
computerPick = "paper";
else

computerPick = "scissors";
if (e.getSource() == rock) {
userPick = "rock";

if (computer == 1) {

msg = "tie";

++tieCount;

} else if (computer == 2) {
msg = "computer";
++computerCount;

} else {

msg = "you";
++playerCount;

}

} else if (e.getSource() == paper) {
userPick = "paper";

if (computer == 2) {

msg = "tie";

++tieCount;

} else if (computer == 3) {
msg = "computer";
++computerCount;

} else {

msg = "you";
++playerCount;

}
} else /* 100 */

{

userPick = "scissors";



if (computer == 3) {
msg = "tie";
++tieCount;

} else if (computer == 1) {
msg = "computer";
++computerCount;
} else {

msg = "you";
++playerCount;

}

}

con.remove(resultsLabel);
con.remove(resultl);
con.remove(result2);

con.remove(result3);

resultsLabel.setText("------ Results------ ");
resultl.setText("You picked " + userPick + " ---- Computer picked " +
computerPick);

result2.setText("Winner: " + msg);

result3.setText("You: " + playerCount + " Computer: " + computerCount + "
Ties: " + tieCount);

con.add(resultsLabel);

con.add(resultl);

con.add(result2);

con.add(result3);

validate();

resultsLabel.setLocation(40, 70);

resultl.setLocation(30, 100);

result2.setLocation(30, 120);

result3.setLocation(30, 140);

repaint();



}

public void paint(Graphics gr) {

float startx = 200f;

float starty = 180f;

float width = 60f;

float height = 60f;

Graphics2D g = (Graphics2D) gr;

BasicStroke aStroke=new BasicStroke(6.0f,
BasicStroke. CAP_ ROUND,BasicStroke.JOIN ROUND);

g.setStroke(aStroke);

g.setColor(Color. WHITE);

g.draw(new Ellipse2D.Float(startx, starty, width, height));

g.draw(new Rectangle2D.Float(startx, starty, width, height));

g.draw(new Line2D.Float(startx, starty, startx + 40, starty + 40));

g.draw(new Line2D.Float(startx + 40, starty, startx, starty + 40));

g.draw(new Ellipse2D.Float(startx - 20, starty + 40, 40f, 40f));

g.draw(new Ellipse2D.Float(startx + 30, starty + 40, 40f, 40f));

g.setColor(Color.BLACK);

promptLabel.repaint();

resultsLabel.repaint();

result].repaint();

result2.repaint();

result3.repaint();

rock.repaint();

paper.repaint();

scissors.repaint();

if (userPick.equals("rock™)) {

g.draw(new Ellipse2D.Float(startx, starty, width, height));

} else if (userPick.equals("paper™)) {

g.draw(new Rectangle2D.Float(startx, starty, width, height));

} else if (userPick.equals("scissors")) {



g.draw(new Line2D.Float(startx, starty, startx + 40, starty + 40));
g.draw(new Line2D.Float(startx + 40, starty, startx, starty + 40));
g.draw(new Ellipse2D.Float(startx - 20, starty + 40, 40f, 40f));
g.draw(new Ellipse2D.Float(startx + 30, starty + 40, 40f, 401));
}
}
}
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import java.awt.*;

import java.applet. Applet;

public class UseCar extends Applet{
public void paint(Graphics g){



/ /38 X NEFA B mycar

g.drawString(" AL 457 B "+mycar.getwz(),10,20);
o.drawString("FT#£100",10,35);

mycar.qj(100);

g.drawString(" f51E30",10,50);

mycar.ht(30);

g.drawString(" 4 HI 7 & "+mycar.getwz(),10,65);
h

h

class Car{

private int wz;

public Car() {wz=0;}
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import java.awt.*;

import java.applet. Applet;

public class Car2 extends Applet{

public void paint(Graphics g){

Car mycar=new Car();

// FHcarZ5 61 i % Gt hear
g.drawString("HLUH A7 B "+mycar.getwz(),10,20); ///N AL IR AT E
hcar.setwz(mycar.x); /1% B 1H /N G-A7
hear.draw(g); //4E 1% A7 & 1 H /N
g.drawString("HI#£300",10,35);

///NERTHE300, 7B R AR

/B N

//AEGAL B N
g.drawString(" 51 100",10,50);

//NEJEIR100, frE kB

/BB N

/ /ARG B N

g.drawString(" 24§ {7 & :"+mycar.getwz(),10,65);
}

}

class Car{

public int x;

public Car() {x=0;}

public void gj(int wzl) {x+=wzl;}
public void ht(int wz1) {x-=wz1;}
public int getwz() {return x;}

!
class Hear{ /5 SCi H /N 1128
int xpos=20;

public void setwz(int xx) {Xpos=xx;}



public void draw(Graphics g){
g.drawRect(xp0s,90,30,12);
g.drawOval(xpos+5,90+12,6,6);
g.drawOval(xpos+20,90+12,6,6);
g.drawString("f7 & : "+xpos,xpos,90+40);

}
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import java.applet.Applet;

import java.awt.*;

import java.awt.event.*;

public class Mousel extends Applet implements MouseListener {

int x,y;TextField t1=new TextField(12);

public void init(){ add(t1); addMouseListener(this);}

public void mousePressed(MouseEvent e){

x=e.getX();y=e.getY();

tl.setText("AAFr{E: "+Integer.toString(x)+","+Integer.toString(y));

}

public void mouseClicked(MouseEvent e){}

public void mouseEntered(MouseEvent e){}

public void mouseReleased(MouseEvent e){}

public void mouseExited(MouseEvent e){}

}
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KeyListener$ [1H 4 =Ny

public void keyPressed (KeyEvent e)

public void keyReleased (KeyEvent e)

public void keyTyped (KeyEvent e)

FEFF2:

import java.applet. Applet;

import java.awt.*;

import java.awt.event.*;

public class Keyl extends Applet implements KeyListener {

String a="";

public void init(){ addKeyListener(this);requestFocus();}

public void keyPressed(KeyEvent ke) {showStatus(“4% ");}

public void keyReleased(KeyEvent ke) {showStatus(“fAi");}

public void keyTyped(KeyEvent ke){

at=ke.getKeyChar();repaint();}

public void paint(Graphics g){

g.drawString(a,10,20);}

}
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